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SHOENDRETE BTr—4% (F—F k5 )
| | — — —
T Alotk oo Y - A
B3 (ecm) S EINE (kg/10a) gZYNE (kg/10a)
maiE 1EE 2EE 3IBE AFE fRiE 1EE 2EE IBFE AFE a% o 1EE 2EE 3IBE 4EFE a5
[7%2RU1 114.4 94.1 77.6 67.0[ r7*zrvu] 4,559 1,544 1,545 1,342 8,990| r7xzrviuy 864 356 321 286 1,827
(221505 109.2 95.4 78.7 62.7| T£=iEw 355 3,611 1,711 1,978 825 8,125| r&=xizws4 681 414 362 148 1,605
[$=15755] 115.6 100.5 76.3 704 re=r25] 4,075 1,646 1,406 1,369 8,496 rxxir25] 762 394 304 253 1,713
[=kit) 113.0 100.1 73.2 64.7| T=&13] 4,147 2,107 1,514 1,153 8,921 r= &l 705 506 288 204 1,703
XIBR L SM2ERIZERE,
E 3L (em) £ HINE (ke/10a) SZHIURE (kg/10a)
1EE 2EE 3IEE AEE 10,000 m1ED m2EKE B3EE 4EE 2,000 e e =
120.0 \ 9,000 1 800 mi1EE m2&F m3EE AEE
3000 1,342 1,153 1600 286 553 20
’ 825 1,369 ’ 148
100.0 o 7,000 - - 1,400 -
\ 6,000 . - 1,200 - - -
0.0 5,000 1,000
. 4,000 800
! 600
60.0 - 3,000 400
2,000 200
40.0 1,000 0
0 [PHFIFYD] [£2Ewih] [£2Er25) M= 513
—— [7FIFUL] == [EEEDS57] [PHIFUD] T2Ew5n] [T£xE72%5] (2513
—— [FX(F1-5 5] IEPIE
XERH
1&FE: [7HRIFVIN] . TFZ2EP5H] (B/18). TF£ZIEA51 . [E&iE] (5/24)
2FE D [7XFIFVIN] . T30 (7/6). T£=2d7=551 . T&EXiF] (7/14)
3FE: [7XFIRVIN] . T£xEwH3h] . T£2EA51 . T&Ekix] (8/21)
AFBE: [PERIRVIN] . [F&EEe5n0] . T£&E4%55] .0 [&&ix] (10/12)




TH9E

FOEEE - miET—32 (FEV—)

B3 (cm) 4+ EINE (kg/10a) ge¥NE (kg/10a)
aniE 1H5E 2EBE Tep 155 2EE = TeL 155 2EE a5t
(7220 A 130.6 51.9| Me>vy A 3,568 478 4 046| =20y A 813 162 975
XIBRE (X5 2 ERUCZEHE,
X [7yry] FRABRBEZROEBRRICEY T—%% L,
E 3 (cm) A BN =(kg/10a) HZ U = (kg/10a)
1HE BE 4,500 mIEE m2ER 1,200 BiEE DR
140.0 4,000
’ 1,000
120.0 3,500
100.0 3,000 500
80.0 2500 o00
2,000
60.0 1,500 400
40.0 1,000 200
20.0 200 0
00 0 [ DU B
' [ DO A
—— [ DU ]
XEH
1&EE . [HOU0Y »] (6/22)
2FEE . [ 2UY A (8/21)
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2 (Zoft (FL,PR) )

=3 (cm) AEINE (kg/10a) #YINE (kg/10a)
R nniE 1EE 2EE 3IBFE nniE 1EE 2EE 3IBFE &Et nniE 1EE 2E/EE 3IBFE =N
FL [BRR15] 115.9 91.8 55.7| TB%R15] 4,854 1,833 636 7,323| [3%15] 849 382 123 1,354
FL [Eiv15 ] 96.2 93.9 52.4| TEI15] 4,821 1,565 339 6,725| Eit1= ] 909 349 122 1,380
PR [y x] 83.7 81.3 41.6| Ty x] 2,946 1,293 639 4878 Ivvzax] 519 273 151 943
PR [EoL~L) 87.9 76.7 45.6| rEzL L) 3,026 1,540 884 5,450| T2z L <L 547 318 188 1,053
XIBRE XIS 3 ERUCENE
XFL: 7z XA MAVYDTL, PRIRLZTFILTAT TR
E 3 (cm) = -
- - _— A BN = (kg/10a) 2= (kg/10a)
140.0 8,000 mES B2EE TR
120.0 7,000 636 1,600 mIES m2ER 3IER
1,400
100.0 6,000 ﬁ 1200 123 122
5,000 —- 884 000
80.0 4.000 , 188
, 151
60.0 3,000 - 500 .
2,000 600
40.0 1,000 400
20.0 0 200
0
0.0 %\ %\ )r\ \/\
e > > - > > S
—— [BF1E]  —e— [EH15 & & & @?\r & »%QO% 54 Na
R1e = i
[vyax] [BEZL~L] S N N & &@/
XERH
1&HZE FL [BR15] . FL [EI15F] (6/1). PR [vvax]  PRIEZL~AL] (6/8)
2FBE FL [B8%15] . FL [EI15] (7/19), PR [¥vax] PRIEZL~RL] (7/27)
3FE FL [BFR1S] . FL [HH1S] . PRTvvax] PRITEZL~RL] (8/23)




